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The figures in the margin indicate full marks
for the questions

1. ©% Tetnr AR Bfnsar : 1x8=8

Choose the correct answer :

(a) SRRV HOTF [ HETF VR A9 HE© |
Logic relate with direct / indirect
knowledge.

(b) U GF FA—IH Rem / RS 1R
FoACESC R
‘White’ and ‘Black’—is an example of
contrary / contradictory terms.
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(2)

(c) <1 Toe wp1 / TfABT / BifREr e A |
In one proposition there are two / three /
four parts.

(d) SN S R /SIS SRS G0 Sl |
Immediate inference is a division of
deductive / inductive inference.

(e) TTIETS | ARRETS @ ARG = |
The qualities are changed in conversion /
obversion inference.

() @[ eiFe F$T IR 9B B 1 / FRH
SIS Ol I A |
On the basis of qualities a proposition are
divided into two / three parts.

(g) =4O SFRERS ‘v @] foThr T vel /
horse shoe.
In symbolic logic, ‘v’ the name of the sign is
vel / horse shoe.

(h) CORR Fore! Fom BIiR / <A1 4T |
There are four / five basic truth functions.

2. 5 G o (R e i) - 4x5=20

Write short notes on (any five) :

(a) HFR=ER 2O
Nature of logic

(b) % ¥ M
Word and term
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(3)

(c) T SE=

Deductive inference
(d) &= 37

Simple proposition
(e) <SR I

Figure of syllogism
() =R IR/

Uses of symbol

3. odREm I @A ? HRERR AR T Sl
oo ot | 3+5+5=13

What is logic? Write the scope and utility oflogic.

What do you mean by denotation and connotation
of term? Explain the relation between denotation
and connotation of term.

4. I FF @A TR RIS Rewem o 341 |
3+10=13
What is proposition? Explain the traditional
classification of proposition.
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T/ Or
RN 35 I QA ? WK RiSH 21wz Tz
[N 90 | 3+10=13
What is compound proposition? Explain its
different kinds with examples.

5. ST I QT ? T PR IR I} 1 A I+|
e AIEH TR ? 3+5+5=13

What is conversion? Explain its rules. Is A
proposition can be converted simply?

%71/ Or

IR QA ? TR R R IR
3+10=13
What is syllogism? Explain the rules of -
categorical syllogism.

6. 2B HRem P B @2 TR wwRI™
HCEmA 90 3+10=13
What do you mean by symbolic logic? Discuss its
development.

3371/ Or

Hore! Fo 7 R Forel FRPHR TORE Aerel
oo SiRATS A I | 3+10=13

What is truth function? Explain basic truth
functions with the help of suitable truth tables.

* %k k
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